The following chart represents the possible ages of the man’s children, given the information in the passage.

[image: image1.emf]Option # A B C A*B*C A+B+C

1 36 1 1 36 38

2 18 2 1 36 21

3 12 3 1 36 16

4 9 2 2 36 13

5 9 4 1 36 14

6 6 6 1 36 13

7 6 3 2 36 11

8 4 3 3 36 10


If the clue about the children’s ages coinciding with the number of the house across the street is not enough information to solve the problem, there must be two possibilities (options 4 and 6) that have the same sum (if A=9, B=C=2 or A=B=6, C=1).  This sum is 13.  The last clue refers to an “eldest” child so child “A” must not have a twin.  This eliminates option number 6 and means the ages of the man’s children must be 9, 2, and 2.
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		Option #		A		B		C		A*B*C		A+B+C

		1		36		1		1		36		38

		2		18		2		1		36		21

		3		12		3		1		36		16

		4		9		2		2		36		13

		5		9		4		1		36		14

		6		6		6		1		36		13

		7		6		3		2		36		11

		8		4		3		3		36		10






